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| Semester B.Com. Examination, Nov./Dec. 2014
(Fresh) (CBCS) (2014-15 and Onwards)
COMMERCE
1.6 (b) : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

Instruction: Answers should be completely in English or Kannada.

SECTION-A

1. Answer any 5 questions. Each question carries 2 marks. - (5%x2=10)
a) Form an equation whose roots are 2 and —5.
b) What is arithmetic progression ?
c) What is Scalar matrix ? Give an example.
d) Find the compound interest on X 3,000 for 3 yrs at 4% p.a.
e) f x:3=50:2, find X.
f) What is banker’s gain ?
g) Find the 6" term of G.P. 2,6, 18 .....

SECTION-B
@ Answerany three questions. Each question carries 6 marks. (3x6=18)

- 3 - 4
+1 x+4 x+3°

2. Solve for X’

3. The 4th and 8! terms of a G.P. are 24 and 384 respectively. Find the 5t term.

15 6 Mie003
4. If A=|7 8 9|B=l0 1 2
o1 2 3 4 5
Find
i) A+2B i) 2A—B

5. Find the banker’s discount and bankers gain on< 3,030 for 73 days at 5% p.a.

6. A man spends 20% of his income for rent, 75% of the remainder for other

expenses. If he saves < 1,600 per month, find his monthly income.
P.T.O.
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SECTION-C

Answer any three questions. Each question carries 14 marks. (3x14=42)

3 5]
it

7. a) Findthe inverse of A = [

8- -2
=B
0~ —8

b) 2A+B= 3A+2B = Solve for ‘A’ and ‘B’ matrix.

<y e -
o N oW

8. a) The sum of 3 numbers in AP is 9 and their product is 15. Find them.
b) The sum of 3 numbers in GP is —21 and their product is 125. Find them.

15
9. a) Solve by formula method 6x s 194

b) Find the compound interest on ¥ 20,000 for 4 years at the rate of 4% p.a.
payable half yearly.

10. a) On a bill of ¥ 10,900 due in 9 months at 5% p.a. find
1) Presentvalue
2) True discount
3) Banlker’s discount
4) Banker’s gain.

6 2
Tk
b) IfA=|:3 5 JB: 3 4| show that (AB) =B'A'.
1.3

11. a) The last term of a series in AP is 40 and the sum of their series is 952. The
common difference is ~2. Find the first term and the number of terms in the
series. ; -

b) The age of the father is 4 times that of his son, 5 yrs ago the age of the father
was 7 times that of his son. Find their present ages.




A 5 SN-579

S SRTPOST
QYN — D

1. CIRFYTTSR 5 BINRT GuZ0R. B8 T 2 WoENED. (5%2=10)

a) 2 32 —5 BRONTINTIEI DTS, TLIRO.
b) BEP0BT Jeed DoETeR0?
C) Aeor® SRE3ET DOBTERD ? 2,000 YVTOHOE VEE,
d) . 3eswo4 3033 BRFFY 3,00080. 71¥ 13FRIBONT FOBOERCAD.

e) Xx:3=50:2 58 X S BE0R 50E) &RCWD.

f) 299,080% @oz3 owTesH?

)

g) 2,6, 18..... NRREST Jerdod Gﬁe aﬁowdw BOBIGROD.
TN — W
IRPTHETR 3 BINER GVZR. B3 BIT6 LoFN. (3x6=18)

1+3_4
C X411 x+4 X+3

TS X LSRR B SBOD.

3. 0B MFEREES erdodae ﬁoaﬁ 24 ai:éaséoo‘o ~o&3 0533384 333 9550 NO@3 oD
dﬁ@ aﬁdo éocéo&o@oma e

1. 58] a3
4. A=|7 8.9 B=t0o 1 2
g1 2 3 4 5/ -
T3 B3 ISP TR TR
) A+2B a2
i) 2A-B |
5. O®. 3,030n9ri 73 c:)aﬁﬁe;ﬁ 3335 S ) B S, 179,080 escoh R0 13,0903
RRERODR TORERD.

6. d 3 35 3e. 20 eﬁcraocbd:b RN =2 ée 75 e Clapleverae) QBT BENENR
aﬁzs aﬂn@mﬂ I em@@:aodoﬁ) 20T éoﬁ@ﬁ 1,600 SRz ejdd Ehvtielats)
aﬁdmﬁﬁw ?
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QTN — 2

RT3 IRV wgoR. B3, 1814 208N, (3x14=42)
3.5
7.a) A= [2 1j|z:f DR ZRBBRI BORRBOWO,

9. 25

4 i3
b) 2A + B = ?‘2 3A + 2B = “g’ ' oTBA e B adss o bomowt.
0 -8 .

8. 8) 2.0 AVNTBT Jee0% BT Road e B8 9 BBy wmnd mraem 15 <33
SEIEviatas] 50@’3805%&‘336

b) 2,000 MORREST 3ee3030 D) Ro3NY Beg 21 =) wws rt:ea@ao 125 03
S BOGNVR) éocé;aoaeom

15
9. a) 6x+ = 19 RRZE RE00R0E AR0EBTIER) AR,

b) 20,000 cw. ns Soees 4 ﬁm?ﬁ Be DREE, 4%0C TOT03 o3¢ ﬁw?‘% BRBORS

2FRBONR) FOTEROWD.
s 10. &) dr. 10,9007 7. 3¢. 53 BOBH 9 0re 530033 2,08 BRI
1) TRE e 2) Q% AR
3) WyoETI Reed 4) ¥3, 0308 U083 - BT SRC0,
6 2
g2
b) A={3 5 1] B=|3 4|s338 (AB) =B'.A’ 0300 2nedR.
1-3

11. a) 20T ARINT0ST 3 ee303 BRSO 053,40 3523 €933 2063 > R0BMY 38 952 02
RRRIIOST 35 23 7 -2 =038 eond dmcﬁ@ﬁoﬁo Nosj =039 aum NOQj rf%i) @amo ?

b) 242 20T503) FoRY Hone WoswNeS DL FURNYT, 5 Berte T3 803 5 BoTSoH
aio:bno Bonanoe mww ﬁmzpcﬂd’ @dawd é&ﬁaﬂ O3RY T ?




